5.3 – Square Root, Radicals

Curriculum Outcomes:

A3
demonstrate an understanding of the role of irrational numbers in applications
A4
approximate square roots
A8
demonstrate an understanding of and apply properties to operations involving 

square roots

B2
develop algorithms and perform operations on irrational numbers

D14
apply the Pythagorean Theorem
E8
use inductive and deductive reasoning when observing patterns, developing properties, and making conjectures
Square Roots

Determining the square root of a number is a radical operation.
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n is the index and tells what root to find



For square root n would be 2.
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This is the radical sign.
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This is the radicand and it is the number that we must find ‘the root of’.

To successfully apply the Pythagorean Theorem, we will have to determine the square root of numbers.  A square root is a radical operation performed on a number to find a value such that the value, when squared, will result in the radicand. 

To calculate the square root of a number we will use the 
[image: image3.wmf] symbol of the calculator.


[image: image4.wmf]68

 = 8.246211251    
We will round this result to 8.25

If we square (8.246211251)2  the result will be 68.

_1269847090.unknown

_1269847091.unknown

_1269847092.unknown

_1269847089.unknown

